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[* - <Include F @S > ---mmmmmmm e */
#i ncl ude "rtmHB_3664. h"

#i ncl ude "ringbuf . h"

#i ncl ude "iiceep. h"

#i ncl ude "const . h"

#i ncl ude "task. h"

[* - < Function Prototype >------mmmmmm oo */
voi d ebzr (voi d); /1 Buzzer on =1 or off =0

voi d ecl earl ap(voi d); /!l Qear lap data i n EEPRIM

voi d edi spl ap(voi d); /1 display |ap data

void edsp_al |l | ap(void); /1 display all of lap data

void edsp all _r_lap(void);

voi d edsp_al | _bot h | ap(unsi gned char);

voi d esetl apptr(void); /1 Set lap data pointer for |atest
voi d ehel p(voi d); /1l Help

voi d pi ck_data of |ap(unsigned char);
voi d uschar 2dec(unsi gned char); // 1byte change to decinal ascii
voi d show ptr(lap ptr *); /1 Show BEEPRMri ngbuf fer poi nter infornation

[* - < Function Prototype (EXtern) >-------cmmmmmmm o */
extern void xerrcna(void); // Conmand Eror

extern char *eqgstrf( char * , char * );

extern voi d fornater4tiner_dbl (unsigned | ong, char *, char);

extern voi d xedunpb( void );

extern unsi gned | ong oget data( unsigned |ong );

extern void cnusrch( void );

[*---- < RAM @SS g > - - - o m e oo e */
one lap tnp eep[4]; /] tenporary data buffer in RAM
/1 (0=9%, 1=1R (2= M3, 3=read fromBEFPRM
unsigned int lap bf cnt; /1 pointer counter for above |ap data buf[]
static lap ptr tnp eep ptr;// tenporary pointer buffer in RAM
static union { /1 ready status for Satch, InfraRed and Magnet
unsi gned char BYTE /* Byte Access */
struct { /* Bt Access */

unsi gned char SW1,; /* Bt 7 */



unsi gned char IR 1; /* Bt 6 */
unsi gned char M3 1; /* Bt 5 */
unsi gned char NN5; /* Bt 4to0 */

} BT,
} lap data status;
unsi gned char id_save; /1 nunber of Lapdata
static union { /1 ready status for Satch, InfraRed and Magnet
unsi gned char BYTE /* Byte Access */
struct { /* Bt Access */
unsi gned char TAPR 1; /* Bt 7 */
unsi gned char TA.PW1; /* Bt 6 */
unsi gned char MLPR 1; /* Bt 5 */
unsi gned char M LPW1; /* Bt 4 */
unsi gned char TMPOR 1; /* Bt 3 */
unsi gned char BZFR 1; /* Bt 2 */
unsi gned char BZFGN1; /* Bt 1l */
unsi gned char CBAXR 1; /* Bt O */
} BT,
} eep sys rw
unsi gned char  Device id;
unsi gned char eep clr _flg;
[*---- < RAMassign (External data) >------------cmmmmmmm oo */
/1 lap tine
extern unsigned int latest dt; /1 which tool is used for |atest data
extern unsigned long lap ir; // Lap tiner by using InfraRed sensor i nput
extern one_lap lap for_|ed; /1 Latest lap dat for LD display
extern one_lap lap data buf[]; /! lap data buffer fromEEPRM
extern unsi gned char lap ptr_buf top; /1 pointer for lap data buf[] top data
ext ern unsi gned char eepdt nd; /1 transfer conplete flag, BEEPROMto | ap data buf[]
extern unsi gned char eepdt flg; /1 transfer conplete flag, BEEPROMto | ap data buf[]
extern unsigned long | ap best; /1 best lap data
extern unsi gned char bz_onoff flg;// Buzzer Qv df control flag
extern char osc_cnp; /1 Xal freq. offset
/1 noni tor
extern char line[BFY], *Ip;
extern char tinbuf[20];
ext ern unsi gned | ong dat ap;
extern unsigned int timusrz; /* user tiner no.2 */
[*en--- < QNS ANt - - = - - oo oo e e */
/* 0 10 20 30 40 50 */
/* 012345678901234567890123456789012345678901234567890 */
char *const mtrnsg0 =" e Lap data control [?=Hret)] ------ "
//static char *const exitnsg =" Return to command node? "Y (ret) or 'N";
static char *const lapnsg =" No. ID By Laptine";
static char *const Ipc nsg =" -- Qontinue? 'Y (ret) or 'N";
static char *const clr_nsg0 = "Are your sure to clear EEPROMP 'Y (ret) or "N";
static char *const clr_nsgl = "Qeared ";
static char *const clr_nsg2 = "Cancel ed";

static char *const hel pnsgB ="
static char *const hel pnsgC ="
static char *const hel pnsgD ="
static char *const hel pnsgDR= "
static char *const hel pnsgE ="
static char *const hel pnsgM ="

Buzzer on = 1 or off =0";
Qear Lap data in BEEPRM;
Osplay lap data (newto ol d)";
Osplay lap data (old to new";
Dunp EEPRM content s”;

G to HB Mnitor";

zmYoow



static char *const helpnsgH =" H You know this";
/* 012345678901234567890123456789012345678901234567890 */

[* - < @NErol Program > - ----- oo */
TELETELEETEE i n i i i it iiiirinngg
/1

/1 Data control routine for BEEPRIM Read/ Wite for Lapdata

/1l

LEEETELEETEEE i i it i it iirinngg

/1 BEPRMRead/ Wite anal ysi s
void I d eBE( void)
{
unsi gned | ong dt;
unsi gned int addr;
unsi gned char i;

if (lap data status. BYTE){
if (lap data status.BIT.IR= 1){

tnp eep[ IRLAF . laptim=lap ir; /1 save lap tine into tenp. buff
tnp eep[ IR LAF . nsr_node = IR LAP, // save nasured tool

tnp eep[ IR LAF.id = ++H d_save; /1 save new(+l) id

ring put _data(& np eep ptr, & np eep[| R LAF);

lap data status.BIT.IR = 0;

lap for led =tnp_eep[| R LAF;

[atest dt = 0x80 + | R LAP,

return;
}
}
if (eepdt flg = RECEST){
pi ck _data of | ap(eepdt nd); /1 pick up neasured tool (SWIR M3
eepdt flg = READY, /! Ready to read data in buffer
}

if (eep sys rwBYTE ! = 0){
if (eep sys rwB T TAPR = 1){
rd eep trg();
} elseif (eep sys rwB T TAPW= 1){
eep_sys rw B T. TA.PW= 0;
addr = BEEP _BSTLAR,
dt =1lap best;
i = Wite byte EEPROM (unsi gned short)addr++, (unsigned char)(dt / 16777216));
i = Wite byte EEPROM (unsi gned short)addr ++, (unsi gned char) (dt / 65536));
i = Wite byte EEPROM (unsi gned short)addr++ (unsigned char)(dt / 256));
i = Wite byte EEPROM (unsi gned short)addr++, (unsigned char)(dt));
} elseif (eep sys rwB T BZFR = 1){
rd_eep bz();
} elseif (eep sys rwB T BZFGN= 1){
eep_sys rw B T. BZFGN= 0;
addr = BHEP BZONCF,
i = Wite byte EEPROM (unsi gned short)addr, bz _onoff flg);
}
}
if (eep_clr_flg = 1){
eep clr_flg =0;
if (ring_is_enpty(&np eep ptr)){ // check buffer enpty
} else { /1 not enpty
ring_clear (& np_eep_ptr);



}
}
voi d init_eep | ap(void)
{
/I EBEPRMI/F
Init_eeprong); /1 Initialize BEBPRMwth port on/off node
Init iic2(); /[l Initialize I I/F
Devi ce_id = 0x00; /1 Set slave address of EEPROM 0 (A2, AL, AD)
/1 Qear buffer
tnp_eep[O].laptim= 0;
tnp_eep[ O] . nsr_node = O; /1 save nasured tool
tnp eep[0].id = 0O /1 save new(+l) id
tnp_eep[1].laptim= 0; /1 save lap tine into tenp. buff
tnp_eep[ 1] . nsr_node = O; /1 save nasured tool
tnp eep[1].id = 0O /1 save new(+l) id
tnp_eep[2].laptim= 0; /1 save lap tine into tenp. buff
tnp_eep[ 2] . nsr_node = O; /1 save nasured tool
tnp eep[2].id = 0O /1 save new(+l) id
tnp_eep[3].laptim= 0; /! save lap tine into tenp. buff
tnp_eep[ 3] . nsr_node = O; /1 save nasured tool
tnp eep[3].id = 0 /1 save new(+l) id
lap data buf[Q].lapti m= TI M BWPTY,
lap data buf[Q].nsr_node = NOTDATA
lap data buf[Q].id = NOIDATA
eep_sys_rw BYTE = 0
eep clr flg =0;
| ap_data status. BYTE = 0;
ring init(&np_eep ptr);
if (ring_rd ptr_top(& np_eep ptr)){
id save = 0 /1 if BEEPRMis enpty, clear id
return;
}
ring_get_data(& np eep ptr, & np_eep[ D LAR);
id save = tnp_eep[RD LAF.id;// read id and save it into RAM
/] Data read fromBEEPRIMnove to task.c general initialize routine
/1 rd_eep tro(); /1 read best [ap data fromEEPRM
/1 rd_eep bz(); /1 read buzzer flag fromBEEPRM
}
voi d rd_eep_trg(voi d)
{
unsi gned | ong dt;
unsigned int addr;
eep_sys rwB T. TAPR = 0;
addr = BE=P _BSTLAR,
dt = (unsigned | ong) Read byt e EEPROM (unsi gned short)addr+) * 16777216;
dt += (unsigned | ong) Read byt e EEPROM (unsi gned short)addr+) * 65536;
dt += (unsigned | ong) Read byt e EEPROM (unsi gned short)addr ++) * 256;
dt += (unsi gned | ong) Read byt e EEPROM (unsi gned short) addr ++) ;
lap best = dt & TI MMX TR MAK;
}

voi d rd_eep_osc(voi d)

{
eep_sys rwB T. GBOR = 0;



osc_cnp = (char)Read byt e EEPROM (unsi gned short) BEEP ALKOWP) ;

}
voi d rd_eep _bz(voi d)
{
eep_sys rwB T. BZFR = O;
bz _onoff flg = (unsigned char)Read byte EEPROM (unsi gned short) BEEP BZONCF) ;
}
voi d ready sw dat a(voi d)
{
lap data status. B T. SW= 1,
}
voi d ready ir_data(voi d)
{
lap data status.BIT.IR = 1;
}
voi d ready ngy_dat a( voi d)
{
lap data status. B T. M5 = 1;
}
voi d req_| apdat a cl ear (voi d)
{
eep clr _flg =1,
}
void reqg rd tgl ap(voi d)
{
eep sys rwB T. TAPR = 1;
}
void req w_tgl ap(voi d)
{
eep_sys rw B T. TA.PW= 1;
}
void req rd ml ap(voi d)
{
eep sys rwBT.MLPR = 1;
}
void req w_nl ap(voi d)
{
eep_sys rwB T.MLPW= 1;
}
voi d req _rd_bzf g(voi d)
{
eep sys rwB T. BZFR = 1;
}

voi d req w_bzf g(voi d)

eep_sys rw B T. BZFGN= 1;



voi d req _rd_osccnp(voi d)
{

eep sys rwB T.CBAOR = 1;
}

voi d pi ck_data of |ap(unsigned char nu)
{

unsi gned char i, skip;

if (ring_is enpty(&np eep ptr)){ // check buffer enpty
lap data buf[Q].lapti m= TI M BWPTY,
lap data buf[Q].nsr_node = NOTDATA
lap data buf[Q].id = NOIDATA
return;
}
ring rd ptr_top(& np_eep ptr);
skip = lap ptr_buf top;
if (skip){
for (i =0; i <skip;){
ring get data(& np eep ptr, & np eep[ RD LAF]);
if (tnp_eep[ RD LAF . nsr_node = nd){
i ++
}
if (ring_rd ptr_nxt(&np eep ptr)){
lap data buf[Q].lapti m= TI M BWPTY,
lap data buf[Q].nsr_node = NOTDATA
lap data buf[Q].id = NOIDATA
return;

}
}
for (i =0, i < SREZ){
ring get data(& np eep ptr, & np eep[ RD LAF]);
if (tnp_eep[ RD LAF . nsr_node = nd){
lap data buf[i] = tnp_eep[ RD LAF|;
i+
}
if (ring_rd ptr_nxt(&np eep ptr)){
lap data buf[i].laptim= TI MBWPTY,
lap data buf[i].nsr_node = NOTDATA
lap data buf[i].id = NOIDATA
return;

}

THOETEEEET T i i nn i ni it rn i it rn i iririg
/1 Part of nonitor function for BEEPRMMcontrol

THOELEEEET T i nn i nn i i i iiirig
[* ----- GCommand Tabl e- - - - - */

typedef const struct{

char  *cnu,
void (*func)( void);
} TBLENTRY;

TBLENTRY ecndthbl [] = {
{"B', ebzr}, /1 Buzzer on =1 or off =0



1/

1/

/*

"C', ecl earl ap},

/!l Qear lap data i n EEPRIM

{

{"DN', edi spl ap}, /! Dsplay one |lap data
{"DR",edsp_all _r_|ap}, // Dsplay al lap data
{"D',edsp_all _|ap}, // Dsplay al lap data

{"E', xedunpb}, /! Dunp EEPROM

{"M, cnusrch}, /1 HB Mbnitor

{"SP', esetlapptr}, /1 Set lap data pointer for |atest
{"H', ehel p}, /1 Help

{

"¥0", xerrcnu},

voi d ehel p( void )

{

/*

1/
1/
1/

*/

/*

Sci Put (
Sci Put S
Sci Put S
Sci Put S
Sci Put S
Sci Put S
Sci Put S

Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("
Sci Put ("

// Gommand Bror */

hel pnsgB ); Put CRK();
hel pnsgC ); PUtCRK();
hel prsgD ); PUutCRK();
hel pnsgCR); Put C(RK();
hel pnsgE ); Put CRK();
hel prsgM); Put CRK();
hel prsgH ); Put CRKH();

ILGZITIEBUOUJ

i

Buzzer on =1 or off =0"); Put (RLK() ;
Qear Lap data in BEEPRM); Put (RLK() ;
Osplay lap data (newto ol d)"); PutRLK);

Osplay lap data (old to new"); PutRLK);

O splay newest"); Put (RLK() ;
Dunp BEBEPRMcontents"); Put (RLK() ;

G to HB Mnitor"); Put (RLK() ;
Set lapdata pointer for latest"); Put (RLK() ;

You know this"); Put (RLK() ;
Return to called routine"); Put (RLK() ;

Gommand anal ysi s and excute----- */

void lap cmd srch( void )

{

/*

char *c;

TBLENTRY *p;

SciPut S nmtrnsgo );

for(;:){

Put GRLK();

SikPutQ'>');

getline();

if(line[0] = '¥0'){
SiPuty exitnsg );
getline();

if((line[0] ="'¥0') |} (Iine[0] ="Y)){

Put RLK();

opni ng_nsg() ;
retur n;

} else {

}

cont i nue;



}

if((c =egstrf(p ->cnd, Ip)) !'=0){

*/
for(p = ecndthl ; *p -> cnd; p+H){
br eak;
}
}
Ip=c
(*p -> func)();
}
}
[* -aee-- Buzzer on =1 or off =0 ------
voi d ebzr ()
{
skpspc() ;
if (ogetdata( datap ) = 0){
i Put §(" Buzzer GFF');
bz _onoff flg = OF,
} else {
i Put §(" Buzzer ON');
bz _onoff flg = QN
timusr2 = T _500MVS,
}
reqw_bzfg();
}
[* e Qear lap data in BEEPRM-----
voi d ecl earl ap()
{
SiPuty clr_nsg0 );
getline();
if((ling[O] = "¥0") |} (line[O]
SiPuty clr_nsgl );
ring clear(&np eep ptr);
show ptr (& np_eep ptr);
return;
} else {
SiPuty clr_nsg2 );
}
}
[* e Show poi nter data ------- */
voi d show ptr(lap ptr *ptr)
{

unsi gned int dt;

i Put S(" BEEPRMring buffer pointer (HEX");
dt = (unsigned int)ptr->buf top;

Sci Put §(" Buffer top =");
put hxw(dt ) ;

dt = (unsigned int)ptr->head;
i Put (", head = ");

put hxw(dt ) ;

dt = (unsigned int)ptr->tail;
SciPut ", tail =");

*/

Put GRLK();

Put GRLK();

*/

="Y)){

/1 for Buzzer ONIlonger tine!!

Put RLK();



/*

put hxw(dt ) ;

dt = (unsigned int)ptr->size;
SiPut (", size =");

put hxw(dt ) ;

Put GRLK();

----Show Lap data ------- */

voi d edi spl ap()

{

/*

if (ring_is enpty(&np_eep ptr)){

/1 check buffer enpty

i Put §(" BEEPRMi s enpty "); PUt GRLK();

return;

}

ring get data(& np eep ptr, & np eep[ RD LAF);

SiPuty(" Lap tine =");

(tnp_eep[ D LAF] . laptim tinbuf, 1);

Sci Put S(ti nibuf ) ;
i Put (", neasured by ");

if (tnp_eep[ RD LAF . nsr_node = SWLAP){

Sci Put (" SW) ;

} elseif (tnp_eep[ RD LAF . nsr_node

i Pt (" IR);

} elseif (tnp_eep[ RD LAF . nsr_node

Sci Put §("M3');
} else {
Sci Put §("?7?");
}
SiPty", ID=");
put hxb(t np_eep[ RD LAF] . i d);
Put RLK();

----Show Al of Lap data ------- */

void edsp_all _|ap()

{
}

edsp_al | _both | ap(1);

void edsp all _r_lap()

{
}

voi d edsp_al | _both | ap(unsi gned char fl Q)

{

edsp_al | _both | ap(0);

unsi gned char n, i;

n=1
i Put §(lap nsg); Pt RLK();
if (ring_is enpty(& np_eep ptr)){

= IRLAD{
= Mz LAP){

/1 check buffer enpty

i Put §(" BEEPRMi s enpty "); PUt GRLK();

return;
}
if (flg){

ring rd ptr_top(&np_eep ptr);
} else {

ring rd ptr_end(& np_eep ptr);



}
dof
for (i =0, i <10; i+H){
ring get data(& np eep ptr, & np eep[ RD LAF);
SiPuty" ");
uschar 2dec( n++) ;
SiPutg" ");
uschar 2dec(t np_eep[ RD LAF .id);
SiPutg" ");
if (tnp_eep[ RD LAF . nsr_node = SWLAP){
Sci Put §("SW) ;
} elseif (tnp eep[ RD LAF. nsr_node = IR LAP){
Si Pt §"IRY);
} elseif (tnp _eep[ RD LAF . nsr_node = M5 LAP){
Sci Put §("M3');
} else {
Sci Put §("??");
}
SiPutg" ");
formater4tiner_dbl (tnp_eep[ D LAF . laptim tinbuf, 1);
Sci Put S(ti nibuf ) ;
Put CQRLK() ;
if (flg){
if (ring_rd_ptr_nxt(&np_eep ptr)){
i Put §(" reach to end! no nore lap data in BEEPRM"); Put GRLK();
return;
}
} else {
if (ring_rd_ptr_nxt_r(&np_eep ptr)){
i Put §(" reach to top! no nore lap data in BEEPRM"); Put GRLK();
return;

}
}
i Put (1 ap_nsQ) ;
i Put (I pc_nsg) ;
getline();
} vhile((ling[O] = "¥0") |} (ling[O] ="¥y') |} (line[O] ="Y'));

}
[* e Set poiner for latest ------- */
voi d esetlapptr()
{
ring rd ptr_top(&np_eep ptr);
show ptr (& np_eep ptr);
}
[* -een-- 1 byte to Decinal ------- */
voi d uschar 2dec(unsi gned char dt)
{
i Put @ (char) (dt / 100) +'0');
dt =dt - ((dt / 100) * 100);
i Put Q (char)(dt / 10) +'0');
dt =dt - ((dt / 10) * 10);
i Put @ (char) (dt +'0'));
}

LEEEEEEEEEEEE e i rrrry



/1l

/1 subroutine for BEEPRM control

/1l

[HOLLELTETE i nn i i ininiririrlg
/1 clear BEEPRM buffer

int ring_clear (lap ptr *ring)

{
ring->buf top = BEP_LAP TCP,
ring->size = LAP DI &,
ring->head = ring->tail =ring->d ptr =ring->buf top;
id save = 0 /1 if BEEPRMis enpty, clear id
return(ring_ptr_save(ring));
}

/] pointer initialize for next power on
int ring_init(lap ptr *ring)
{
return(ring_ptr_load(ring)); // data pointer read fromBEEPRM

}

/] pointer initialize for data read
int ring_rd ptr_top(lap ptr *ring)

{
ring->rd ptr =ring->tail; /1 set latest pointer
if (ring_rd ptr_nxt(ring)){ /] if enpty, return with error
return -1,
}
return O; /1 normal end
}
int ring_rd ptr_end(lap ptr *ring)
{
ring->rd ptr = ring->head, /1 set latest pointer
return O; /1 normal end
}

/1 pointer change to next read
int ring_rd ptr_nxt(lap ptr *ring)

{
unsigned int i;
if (ring->rd ptr = ring->head){
return -1, /1 if current pointer is bottonfol der) then
return w error
}
i = (unsigned int)ring->d ptr - 92
/1 check next pointer
if ( (i <(unsigned int)ring->buf top) !} (i > (unsigned int)ring->buf top + ring->size)){
ring->rd ptr = (void *)((unsigned int)ring->buf top + ring->size -92);
} else {
ring->rd ptr = (void *)i;
}
return O;
}

int ring_rd ptr_nxt_r(lap_ptr *ring)
{

unsigned int i;



i = (unsigned int)ring->tail - 92
if (i = (unsigned int)ring->rd ptr){
return -1, /1 if current pointer is bottonfol der) then
return w error
}
i = (unsigned int)ring->d ptr + 92
/1 check next pointer

if (i = (unsigned int)ring->buf top + ring->size){
ring->rd ptr = ring->buf_top;

} else {
ring->rd ptr = (void *)i;

}

return O;

}

/1 check enpity condition
int ring_is enpty(lap ptr *ring)

{ if (ring->head = ring->tail){
return 1;
}
return O
}

/1 check read poi nter
int ring_is end(lap ptr *ring)

{ if (ring->head = ring->rd ptr){
return 1,
}
return O
}

/] wite data into the buffer
int ring_put data(lap ptr *ring, one |lap *data)

{
unsigned int pto, pt1;
ring data save(ring, data);
/1 set next pointer
pt0 = (unsigned int)ring->tail + 92
ptl = (unsigned int)ring->buf top + ring->size;
if (pt0 = pt1){ /1 if reach BEEPRMring buffer end, then set to top
ring->tail = ring->buf top;
} else { /1 not reach buf. end yet
ring->tail = (void *)ptO;
}
/1 if buffer is reached full, then nodify head poi nter
if ( ring->tail == ring->head){ /1 full condition then action
pt0 = (unsigned int)ring->head + 9 Z
/1 ptl = (unsigned int)ring->buf top + ring->size; // calculated by above
if (pt0 = pt1){ /1 if reach BEEPRMring buffer end, then set to top
ri ng->head = ring->buf top;
} else { /1 not reach buf. end yet

ring->head = (void *)ptO;
}



}

ring ptr_save(ring);
return O;

/1 read data fromthe buffer
int ring_get data(lap ptr *ring, one |lap *data)

{

}

ring data | oad(ring, data);
return O;

/1 check how many data in the buffer
int ring_get capacity(lap ptr *ring)

{

}

if (ring->head <ring->tail) {

return ((unsigned int)ring->tail - (unsigned int)ring->head);

}

return (unsigned int)ring->size;

/1 pointer save action into BEEPRM
int ring_ptr_save(lap ptr *ring)

{

1/
1/
1/

}

unsi gned int addr, dt;
unsi gned char i;

/1 addr

addr = BE=P PTR

/1 buffer top addr

dt = (unsigned int)ring->buf_top;

i = Wite_byte BEEPROM (unsi gned short) addr ++,
if (error_status == BRRIR{

}

i = Wite byte EEPROM (unsi gned short) addr ++,
/1 data head(ol der)

dt = (unsigned int)ring->head;

i = Wite byte EEPROM (unsi gned short) addr ++,
i = Wite byte EEPROM (unsi gned short) addr ++,
/] data tail (latest)

dt = (unsigned int)ring->tail;

i = Wite byte EEPROM (unsi gned short) addr ++,
i = Wite byte EEPROM (unsi gned short) addr ++,
/] data pointer for data read

dt = (unsigned int)ring->rd ptr;

i = Wite byte EEPROM (unsi gned short) addr ++,
i = Wite byte EEPROM (unsi gned short) addr ++,
/1 BEEPRMring buffer size

dt = ring->size;

i = Wite byte EEPROM (unsi gned short) addr ++,
i = Wite byte EEPROM (unsi gned short) addr ++,
return O;

/1 pointer read action from BEEPRM
int ring_ptr_load(lap ptr *ring)

{

unsi gned i nt addr;

(unsi gned char) (dt / 256));

(unsi gned char)dt );

(unsi gned char) (dt / 256));
(unsi gned char)dt );

(unsigned char) (dt / 256));
(unsi gned char)dt );

(unsigned char) (dt / 256));
(unsi gned char)dt );

(unsi gned char) (dt / 256));
(unsi gned char)dt );



1/
1
1/

}

unsi gned char i, dt, dto;

/1 addr

addr = BEP PTR

/1 buffer top addr

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;
if (error_status = ERRR{

}
dt = Read byte EEPROM (unsi gned short)addr++);

ring->buf top = (void *)((unsigned int)dtO * 256 + (unsigned int)dt);
/1 data head(ol der)

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt = Read byte EEPROM (unsi gned short)addr++);

ri ng- >head = (void *)((unsigned int)dtO * 256 + (unsigned int)dt);
/] data tail (latest)

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt = Read byte EEPROM (unsi gned short)addr++);

ring->tail = (void *)((unsigned int)dtO * 256 + (unsigned int)dt);
/] data pointer for data read

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt = Read byte EEPROM (unsi gned short)addr++);

ring->rd ptr = (void *)((unsigned int)dtO * 256 + (unsigned int)dt);
/1 BEEPRMring buffer size

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt = Read byte EEPROM (unsi gned short)addr++);

ri ng->si ze = (unsigned int)dt0 * 256 + (unsigned int)dt;

return O;

/] data wite action into BEEPRM
int ring_data save(lap ptr *ring, one | ap *data)

{

1/
1/
1/

}

unsi gned | ong dt;
unsi gned i nt addr;
unsi gned char i;

/1 addr

addr = (unsigned int)ring->tail;

/1 lap tine

dt = data->laptim

i = Wite byte EEPROM (unsi gned short)addr++ (unsigned char)(dt / 16777216));// 2"24
if (error_status = ERRR){

}

i = Wite byte BEEPRM (unsi gned short)addr++, (unsigned char)(dt / 65536)); /1 2716
i = Wite byte EEPROM (unsi gned short)addr++ (unsigned char)(dt / 256)); /1 2~8
i = Wite byte EEPROM (unsi gned short)addr++ (unsigned char)(dt )); /1 2~0

/1 neasured t ool

i = Wite byte EEPROM (unsi gned short)addr ++, dat a- >nsr_node) ;
/1 id nunber

i = Wite byte EEPROM (unsi gned short)addr++, data->id);
return O;

/] data read action fromBEEPRM
int ring_ data |oad(lap ptr *ring, one | ap *dat a)

{



unsi gned i nt addr;
unsi gned char i, dt,dtO,dtl,dt2;

/1 addr

addr = (unsigned int)ring->rd ptr;

/] lat tine

dt2 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt1 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt0 = Read byt e EEPROM (unsi gned short) addr ++) ;

dt = Read byte EEPROM (unsi gned short)addr++);

data->l apti m= (unsigned long)dt2 * 16777216 + (unsigned | ong)dt1l * 65536
+ (unsigned long)dt0 * 256 + (unsigned | ong)dt;

/1 neasured t ool

dat a- >nsr_node = Read byt e EEPROM (unsi gned short) addr ++) ;
/1 id nunber

data-> d = Read byte EEPROM (unsi gned short)addr ++);
return O;



